

INVERSE THEOREM FOR THE SZÁSZ-DURRMEYER OPERATORS

TOMASZ ŚWIDERSKI*

Abstract. In the present paper we establish direct and inverse local properties for the Szász-Durrmeyer operators. These operators are introduced in [1] and independently considered in [4] as the generalized integral operators proposed by S.M. Mazhar and V. Totik in [2].

MSC 2000. 41A36, 41A25.

Keywords. Modified Szász-Mirakyan operator, Baskakov-Durrmeyer operator.

1. INTRODUCTION

S.M. Mazhar and V. Totik in [2] introduced the modified Szász-Mirakyan operators defined on $[0, \infty)$:

$$L_n(f, x) = n \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} p_{n,k}(t) f(t) dt,$$

where $p_{n,k}(x) = e^{-nx} \frac{(nx)^k}{k!}$ and $n \in \mathbb{N}$.

The Szász-Durrmeyer operators are defined as

$$M_n^{\nu}(f, x) = n \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} p_{n,k}(t) f(t) dt,$$

where $\nu \in (-1, \infty)$. Let us notice, that $M_n^0(f) = L_n(f)$.

Some asymptotic properties of the operators M_n^{ν} in polynomial weight spaces, global approximation theorem and Voronovskaya type theorem have been given in [4]. Moreover, the connection between these operators and boundary problem was shown, using the relationship discussed in [5].

The Szász-Durrmeyer operators were introduced by A. Ciupa and I. Gavrea [1]. In the same paper the commutativity these operators, use in the proof of theorem 1 was shown.

In this paper we give relation between local smoothness of function f and local convergence of Szász-Durrmeyer operators M_n^{ν} . Results of this type for Berenstain-Durrmeyer operators have been given by Ding-Xuan Zhou [6] and

*Institute of Mathematics, Pedagogical University, Podchorążych 2, PL-30-084 Kraków, Poland, e-mail: smswider@cyf-kr.edu.pl.

Song Li [3]. By $K_i(a, b)$ or $K_i(a, b, c)$, $i \in \mathbb{N}^*$ we denote suitable positive constants depending only on indicated parameters.

2. AUXILIARY RESULTS

Let B_r denote set of measurable function $f : [0, \infty) \rightarrow R$ such that

$$\exists M > 0 \forall t \in [0, \infty) |f(t)p_r(t)| \leq M$$

where $p_0(t) = 1$ and $p_r(t) = \frac{1}{1+t^r}$ for $r \in \mathbb{N}^*$. The norm on B_r is defined by formula

$$\|f\|_{B_r} = \sup_{t \in [0, \infty)} |f(t)p_r(t)|.$$

In [4], it has been given that M_n^ν exist for $f \in B_r$ and $M_n^\nu \in B_r$.

Later on we use the following formulas [4]:

$$(1) \quad \sum_{k=0}^{\infty} p_{n,k}(x) = 1,$$

$$(2) \quad \sum_{k=0}^{\infty} kp_{n,k}(x) = nx,$$

$$(3) \quad \sum_{k=0}^{\infty} k^2 p_{n,k}(x) = (nx)^2 + nx,$$

$$(4) \quad \int_{k=0}^{\infty} t^r p_{n,k+\nu}(t) dt = n^{-(r+1)} \frac{\Gamma(k+\nu+r+1)}{\Gamma(k+\nu+1)},$$

$$(5) \quad M_n^\nu(1, x) = 1,$$

$$(6) \quad M_n^\nu((t-x)^2, x) = \frac{x}{n} + \frac{(\nu+1)(\nu+2)}{n^2},$$

where $r \in \mathbb{N}$, $n \in \mathbb{N}^*$ and $x \in [0, \infty)$.

Let $E \subset [0, \infty)$, $t \in [0, \infty)$ and $\alpha \in (0, 1]$. We denote

$$\phi_{\alpha,n}(t) = \left(\frac{t}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} + (d(t, E))^{\alpha},$$

where $d(t, E)$ is the distance between t i E defined as

$$d(t, E) = \inf_{y \in E} \{|t - y|\}.$$

We shall prove the following:

LEMMA 1. Let $\alpha \in (0, 1]$ and $E \subset [0, \infty)$. Suppose, that $f \in B_0$ satisfies

$$(7) \quad |f(t)| \leq \phi_{\alpha,n}(t), \quad t \in [0, \infty).$$

Then, we have

$$(8) \quad \left| \frac{d}{dx} M_{n,\nu}(f, x) \right| \leq K_1(\alpha, n) \sqrt{\frac{n}{x}} \phi_{\alpha,n}(x), \quad x \in (0, \infty).$$

Proof. We start with observations

$$(x)^{\frac{\alpha}{2}} \leq (t)^{\frac{\alpha}{2}} + (|t-x|)^{\frac{\alpha}{2}}$$

and

$$(d(t, E))^{\alpha} \leq (d(x, E))^{\alpha} + |t-x|^{\alpha} \quad \text{for } t, x \in [0, \infty).$$

By (7) we get

$$\begin{aligned} \left| \frac{d}{dx} M_n^{\nu}(f, x) \right| &\leq \left| n \sum_{k=0}^{\infty} \frac{k-nx}{x} p_{n,k}(x) \int_0^{\infty} f(t) p_{n,k+\nu}(t) dt \right| \\ &\leq \frac{n}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) \int_0^{\infty} \left[\left(\frac{t}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} + d(t, E)^{\alpha} \right] p_{n,k+\nu}(t) dt \\ &\leq \frac{1}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) \phi_{\alpha,n}(x) \\ &\quad + \frac{n}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) \int_0^{\infty} \left(\frac{|t-x|}{n}\right)^{\frac{\alpha}{2}} p_{n,k+\nu}(t) dt \\ &\quad + \frac{n}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) \int_0^{\infty} |t-x|^{\alpha} p_{n,k+\nu}(t) dt \\ &= I_1 + I_2 + I_3. \end{aligned}$$

By Cauchy inequality and (1–3) we have

$$\begin{aligned} I_1 &= \frac{1}{x} \phi_{\alpha,n}(x) \sum_{k=0}^{\infty} [(k-nx)^2 p_{n,k}(x)]^{\frac{1}{2}} [p_{n,k}(x)]^{\frac{1}{2}} \\ &\leq \frac{1}{x} \phi_{\alpha,n}(x) \left[\sum_{k=0}^{\infty} (k-nx)^2 p_{n,k}(x) \right]^{\frac{1}{2}} \left[\sum_{k=0}^{\infty} p_{n,k}(x) \right]^{\frac{1}{2}} \\ &= \sqrt{\frac{n}{x}} \phi_{\alpha,n}(x). \end{aligned}$$

Similarly, by the Hölder inequality and (4), we obtain

$$\begin{aligned} I_3 &\leq \frac{1}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) \left[n \int_0^{\infty} (t-x)^2 p_{n,k+\nu}(t) dt \right]^{\frac{\alpha}{2}} \left[n \int_0^{\infty} p_{n,k+\nu}(t) dt \right]^{1-\frac{\alpha}{2}} \\ &= \frac{1}{x} \sum_{k=0}^{\infty} |k-nx| p_{n,k}(x) n^{-\alpha} [(k+\nu+1)(k+\nu+2) - 2(k+\nu+1)nx + (nx)^2]^{\frac{\alpha}{2}} \\ &= \frac{1}{x} \sum_{k=0}^{\infty} |k-nx| (p_{n,k}(x))^{1-\frac{\alpha}{2}} \\ &\quad \times \left(n^{-\alpha} [(k+\nu+1)(k+\nu+2) - 2(k+\nu+1)nx + (nx)^2] p_{n,k}(x) \right)^{\frac{\alpha}{2}} \end{aligned}$$

$$\leq \frac{1}{x} \left[\sum_{k=0}^{\infty} |k - nx|^{\frac{2}{2-\alpha}} p_{n,k}(x) \right]^{1-\frac{\alpha}{2}} \\ \times n^{-\alpha} \left(\sum_{k=0}^{\infty} [(k + \nu + 1)(k + \nu + 2) - 2(k + \nu + 1)nx + (nx)^2] p_{n,k}(x) \right)^{\frac{\alpha}{2}}.$$

Applying (1-3), we get

$$n^{-\alpha} \left(\sum_{k=0}^{\infty} [(k + \nu + 1)(k + \nu + 2) - 2(k + \nu + 1)nx + (nx)^2] p_{n,k}(x) \right)^{\frac{\alpha}{2}} \\ = n^{-\alpha} [2nx + (\nu + 1)(\nu + 2)]^{\frac{\alpha}{2}} \\ \leq K_2(\alpha, \nu) \left[\left(\frac{x}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} \right].$$

Using the Hölder inequality and (1-3), we have

$$\frac{1}{x} \left[\sum_{k=0}^{\infty} |k - nx|^{\frac{2}{2-\alpha}} p_{n,k}(x) \right]^{1-\frac{\alpha}{2}} = \\ = \frac{1}{x} \left[\left(\sum_{k=0}^{\infty} (k - nx)^2 p_{n,k}(x) \right)^{\frac{1}{2-\alpha}} \left(\sum_{k=0}^{\infty} p_{n,k}(x) \right)^{\frac{1-\alpha}{2-\alpha}} \right]^{1-\frac{\alpha}{2}} \\ = \frac{1}{x} (nx)^{\frac{1}{2}} = \sqrt{\frac{n}{x}}.$$

Hence,

$$I_3 \leq K_2(\alpha, \nu) \sqrt{\frac{n}{x}} \left[\left(\frac{x}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} \right].$$

Now, we estimate I_2 . First, we remark that

$$\left(\frac{|t-x|}{n} \right)^{\frac{\alpha}{2}} \leq \frac{1}{2} (n^{-\alpha} + |t-x|^\alpha), \quad t, x \in [0, \infty), \quad n \in \mathbb{N}^*.$$

Hence,

$$I_2 \leq \frac{1}{2x} n^{-\alpha} \sum_{k=0}^{\infty} |k - nx| p_{n,k}(x) n \int_0^{\infty} p_{n,k+\nu}(t) dt \\ + \frac{1}{2x} \sum_{k=0}^{\infty} |k - nx| p_{n,k}(x) n \int_0^{\infty} |t - x|^\alpha p_{n,k+\nu}(t) dt = J_{2,1} + J_{2,2}.$$

By Cauchy inequality and (1-4) we get

$$J_{2,1} = \frac{1}{2x} n^{-\alpha} \left[\sum_{k=0}^{\infty} (k - nx)^2 p_{n,k}(x) \right]^{\frac{1}{2}} \left[\sum_{k=0}^{\infty} p_{n,k}(x) \right]^{\frac{1}{2}} \\ \leq \frac{1}{2x} n^{-\alpha} \sqrt{nx} \leq \frac{1}{2} \sqrt{\frac{n}{x}} n^{-\alpha}.$$

By Hölder inequality and (1–4) we obtain

$$\begin{aligned}
J_{2,2} &= \frac{1}{2x} \sum_{k=0}^{\infty} |k - nx| p_{n,k}(x) \left[n \int_0^{\infty} (t-x)^2 p_{n,k+\nu}(t) dt \right]^{\frac{\alpha}{2}} \\
&\quad \times \left[n \int_0^{\infty} p_{n,k+\nu}(t) dt \right]^{1-\frac{\alpha}{2}} \\
&\leq \frac{1}{2x} \sum_{k=0}^{\infty} |k - nx| p_{n,k}(x) (n^{-2}[(k+\nu+1)(k+\nu+2) - 2(k+\nu+1)nx + (nx)^2])^{\frac{\alpha}{2}} \\
&\leq \frac{1}{2x} \left[\sum_{k=0}^{\infty} |k - nx|^{\frac{2}{2-\alpha}} p_{n,k}(x) \right]^{\frac{2-\alpha}{2}} \\
&\quad \times \left[\sum_{k=0}^{\infty} (n^{-2}[(k+\nu+1)(k+\nu+2) - 2(k+\nu+1)nx + (nx)^2]) p_{n,k}(x) \right]^{\frac{\alpha}{2}} \\
&\leq K_3(\alpha, \nu) \sqrt{\frac{n}{x}} \left[\left(\frac{x}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} \right].
\end{aligned}$$

Hence,

$$I_2 \leq (K_3(\alpha, \nu) + \frac{1}{2}) \sqrt{\frac{n}{x}} \left[\left(\frac{x}{n}\right)^{\frac{\alpha}{2}} + n^{-\alpha} \right]$$

and finally we get (8). \square

LEMMA 2. Let $\alpha \in (0, 1]$, $E \subset [0, \infty)$. Suppose that $f \in B_0$ satisfies (7). Then

$$(9) \quad \left| \frac{d}{dx} M_n(\nu)(f, x) \right| \leq K_4(\alpha, \nu) n \phi_{\alpha, n}(x), \quad x \in [0, \infty).$$

Proof. Observe that

$$\begin{aligned}
\left| \frac{d}{dt} M_{n,\nu}(f, x) \right| &= n^2 \left| \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} f(t) [p_{n,k+1+\nu}(t) - p_{n,k+\nu}(t)] dt \right| \\
&\leq n^2 \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} \phi_{\alpha, n}(t) |p_{n,k+1+\nu}(t) - p_{n,k+\nu}(t)| dt \\
&\leq n^2 \sum_{k=0}^{\infty} p_{n,k}(x) \int_0^{\infty} \left[\left(\frac{t-x}{n}\right)^{\frac{\alpha}{2}} + \left(\frac{x}{n}\right)^{\frac{\alpha}{2}} \right. \\
&\quad \left. + n^{-\alpha} + d(x, E)^{\alpha} + |t-x|^{\alpha} [p_{n,k+1+\nu}(t) + p_{n,k+\nu}(t)] \right] dt.
\end{aligned}$$

By the estimation similar to the proof of lemma 1, we get (9). \square

THEOREM 1. Let $f \in B_0$, $\alpha \in (0, 1)$, $x \in [0, \infty)$, $i \in E \subset [0, \infty)$. Then

$$(10) \quad |f(x) - f(y)| \leq K_5(f, \alpha, \nu) |x - y|^{\alpha} \text{ for } y \in E$$

if and only if

$$(11) \quad |M_{n,\nu}(f, x) - f(x)| \leq K_6(f, \alpha, \nu) \phi_{\alpha, n}(x).$$

Proof. Suppose that (10) holds. Let $x_E \in clE$ such that $|x - x_E| = d(x, E)$. So we have

$$|f(t) - f(x_E)| \leq K_5(f, \alpha, \nu)|t - x|^\alpha \quad \text{for } t \in [0, \infty)$$

and

$$\begin{aligned} |M_{n,\nu}(f, x) - f(x)| &\leq |M_{n,\nu}(f(t) - f(x_E), x)| + |f(x_E) - f(x)| \\ &\leq K_5(f, \alpha, \nu)(|M_{n,\nu}(|t - x_E|^\alpha, x) + |x - x_E|^\alpha) \\ &\leq K_5(f, \alpha, \nu)[M_{n,\nu}(|t - x|^\alpha, x) + M_{n,\nu}(|x - x_E|^\alpha, x) + |x - x_E|^\alpha]. \end{aligned}$$

Thus, by (5) we obtain

$$\begin{aligned} |M_{n,\nu}(f, x) - f(x)| &\leq K_5(f, \alpha, \nu)\left[\left(\frac{x}{n} + \frac{(\nu+1)(\nu+2)}{n^2}\right)^{\frac{\alpha}{2}} + 2|x - x_E|^\alpha\right] \\ &\leq K_6(f, \alpha, \nu)\phi_{\alpha,n}(x). \end{aligned}$$

And the proof sufficiency is complete. We note that this part holds also for $\alpha = 1$.

Suppose that (11) is valid. Let $x \in [0, \infty)$, $y \in E$. If $x = y$ the (10) is obvious. If $|x - y| \in (\frac{1}{4}, \infty)$ we have

$$|f(x) - f(y)| \leq 2 \|f\| \leq K_7(f, \alpha)|x - y|^\alpha.$$

If $|x - y| \in (0, \frac{1}{4})$, we take $n \in \mathbb{N}$ and $n > 4$, such that

$$(12) \quad \frac{|x-y|}{2} < \delta_n(x, y) \leq |x - y|,$$

where $\delta_n(x, y) = \max\left\{\frac{1}{2^{n-2}}, \sqrt{\frac{x}{2^{n-2}}}, \sqrt{\frac{y}{2^{n-2}}}\right\}$.

This implies that

$$(13) \quad \phi_{\alpha,2^n}(x) \leq K_8(\alpha)|x - y|^\alpha.$$

We have

$$\begin{aligned} |f(x) - f(y)| &\leq \\ &\leq |M_{2^n}^\nu(f, x) - f(x)| + |M_{2^n}^\nu(f, y) - f(y)| + |M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot) - f, x)| \\ &\quad + |M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot) - f, y)| + |M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot), x) - M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot), y)| \\ &= A_1 + A_2 + A_3 + A_4 + A_5. \end{aligned}$$

By assumption, (12) and (13) we get

$$(14) \quad A_1 \leq K_6(f, \alpha, \nu)\phi_{\alpha,2^n}(x) \leq K_9(f, \alpha, \nu)|x - y|^\alpha,$$

$$(15) \quad A_2 \leq K_6(f, \alpha, \nu)\phi_{\alpha,2^n}(y) \leq K_{10}(f, \alpha, \nu)|x - y|^\alpha,$$

By (5), (6) and (12) we have

$$\begin{aligned} M_{2^n}^\nu(\phi_{\alpha, 2^{n-1}}, x) &\leq \phi_{\alpha, 2^{n-1}}(x) + M_{2^n}^\nu\left(\left(\frac{|t-x|}{2^{n-1}}\right)^{\frac{\alpha}{2}}, x\right) + M_{2^n}^\nu(|t-x|^\alpha, x) \\ &\leq \phi_{\alpha, 2^{n-1}}(x) + \frac{1}{2}M_{2^n}^\nu\left(\left(\frac{1}{2^{n-1}}\right)^\alpha, x\right) + \frac{3}{2}M_{2^n}^\nu(|t-x|^\alpha, x) \\ &\leq \phi_{\alpha, 2^{n-1}}(x) + \frac{1}{2}\left(\frac{1}{2^{n-1}}\right)^\alpha + \frac{3}{2}\left(M_{2^n}^\nu((t-x)^2, x)\right)^{\frac{\alpha}{2}} \\ &\leq K_9(f, \alpha, \nu)|x-y|^\alpha \end{aligned}$$

and by (11) we get

$$(16) \quad A_3 \leq K_6(\alpha, \nu)K_9(f, \alpha, \nu)|x-y|^\alpha.$$

Similarly

$$(17) \quad A_4 \leq K_6(\alpha, \nu)K_{10}(f, \alpha, \nu)|x-y|^\alpha.$$

In the next step we estimate A_5 . By commutativity of M_n^ν (see [1]) we obtain

$$\begin{aligned} M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot), t) &= \sum_{i=3}^n M_{2^{i-1}}^\nu(M_{2^i}^\nu(f, \cdot) - M_{2^{i-2}}^\nu(f, \cdot), t) \\ &\quad + M_4^\nu(M_2(f, \cdot), t). \end{aligned}$$

Furthermore we have

$$\begin{aligned} &|M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot), x) - M_{2^n}^\nu(M_{2^{n-1}}^\nu(f, \cdot), y)| \leq \\ &\leq \sum_{i=3}^n \int_x^y \left| \frac{d}{dx} M_{2^{i-1}}^\nu(M_{2^i}^\nu(f, \cdot) - M_{2^{i-2}}^\nu(f, \cdot), t) \right| dt \\ &\quad + \int_x^y \left| \frac{d}{dx} M_4^\nu(M_2(f, \cdot), t) \right| dt = A_{5,1} + A_{5,2}. \end{aligned}$$

By simple calculation we get

$$A_{5,2} \leq K_{11}(f, \alpha)|x-y| \leq K_{11}(f, \alpha)|x-y|^\alpha.$$

Moreover,

$$\begin{aligned} |M_{2^i}^\nu(f, t) - M_{2^{i-2}}^\nu(f, t)| &\leq |M_{2^i}^\nu(f, t) - f(t)| + |M_{2^{i-2}}^\nu(f, t) - f(t)| \\ &\leq K_6(f, \alpha, \nu)(\phi_{\alpha, 2^i}(t) + \phi_{\alpha, 2^{i-2}}(t)) \\ &\leq K_{12}(f, \alpha, \nu)\phi_{\alpha, 2^{i-1}}(t). \end{aligned}$$

Now, we assume that $x < y$. Thus we have

$$\delta_n(x, y) = \max \left\{ \frac{1}{2^{n-2}}, \sqrt{\frac{y}{2^{n-2}}} \right\}$$

and

$$d(t, E) \leq |x-y| \quad \text{for } t \in [x, y].$$

We estimate $A_{5,1}$ in two cases. First, let $\delta_n(x, y) = \sqrt{\frac{y}{2^{n-2}}}$. Then $2^{-n+2} \leq y$ and

$$(18) \quad \frac{1}{2}|x - y| \leq \sqrt{\frac{y}{2^{n-2}}} \leq |x - y|.$$

Let $i \in \{3, 4, \dots, n\}$. If $2^{-i+2} \leq y$, then by (12), lemma 1 and inequality

$$\int_x^y t^{-\beta} dt = \frac{|x-y|}{(1-\beta)y^\beta}, \quad \beta \in [0, 1),$$

we get

$$\begin{aligned} I_i &= \int_x^y \left| \frac{d}{dt} M_{2^{i-1}}^\nu(M_{2^i}^\nu(f, \cdot) - M_{2^{i-2}}^\nu(f, \cdot), t) \right| dt \\ &\leq K_1(\alpha, \nu) K_{12}(f, \alpha, \nu) \int_x^y \sqrt{\frac{2^{i-1}}{t}} \phi_{\alpha, n}(t) dt \\ &\leq K_{13}(f, \alpha, \nu) (2^{i-1})^{(1-\frac{\alpha}{2})} \int_x^y t^{-\frac{1-\alpha}{2}} dt + (2^{i-1})^{(\alpha-\frac{1}{2})} \int_x^y t^{\frac{1}{2}} dt \\ &\quad + (2^{i-1})^{-\frac{1}{2}} |x-y|^\alpha \int_x^y t^{-\frac{1}{2}} dt \\ &\leq K_{14}(f, \alpha, \nu) \left[\left(\sqrt{\frac{y}{2^{i-1}}} \right)^{\alpha-1} |x-y| + \left(\sqrt{\frac{y}{2^{i-1}}} \right)^{-1} |x-y|^{1+\alpha} \right]. \end{aligned}$$

If $2^{-i+2} > y$, then by lemma 2 and (12) we obtain

$$\begin{aligned} I_i &\leq K_4(\alpha, \nu) K_{11}(f, \alpha, \nu) \int_x^y 2^{i-1} \phi_{\alpha, 2^{i-1}}(t) dt \\ &\leq K_{15}(f, \alpha, \nu) \left((2^{i-1})^{1-\frac{\alpha}{2}} y^{\frac{\alpha}{2}} |x-y| + (2^{i-1})^{1-\alpha} |x-y| + 2^{i-1} |x-y|^{1+\alpha} \right) \\ &\leq K_{15}(f, \alpha, \nu) \left[\left(\sqrt{\frac{y}{2^{i-1}}} \right)^{\alpha-1} |x-y| + \left(\sqrt{\frac{y}{2^{i-1}}} \right)^{-1} |x-y|^{1+\alpha} \right]. \end{aligned}$$

Above inequality and (12) imply

$$\begin{aligned} A_{5,1} &\leq \sum_{i=3}^n I_i \leq K_{17}(f, \alpha, \nu) \left[\left(\sqrt{\frac{y}{2^{n-2}}} \right)^{\alpha-1} |x-y| + \left(\sqrt{\frac{y}{2^{n-2}}} \right)^{-1} |x-y|^{1+\alpha} \right] \\ &= 2K_{17}(f, \alpha, \nu) |x-y|^\alpha. \end{aligned}$$

In the next step we suppose that $\delta_n(x, y) = \frac{1}{2^{n-2}}$. In this case $y < 2^{-n+2}$ thus by lemma 2 and (12) we have

$$I_i \leq K_{14}(f, \alpha, \nu) \left((2^{i-1})^{1-\frac{\alpha}{2}} y^{\frac{\alpha}{2}} |x-y| + (2^{i-1})^{1-\alpha} |x-y| + 2^{i-1} |x-y|^{1+\alpha} \right)$$

and

$$\begin{aligned} A_{5,1} &\leq \sum_{i=3}^n I_i K_{18}(f, \alpha, \nu) (2^{n-2} |x-y|^{\alpha+1} + 2 \cdot (2^{n-2})^{1-\alpha} |x-y|) \\ &\leq 3K_{18}(f, \alpha, \nu) |x-y|^\alpha. \end{aligned}$$

Hence,

$$(19) \quad A_5 \leq K_{19}(f, \alpha, \nu)|x - y|^\alpha$$

Finally, (14), (15), (16), (17) and (19) imply that

$$|f(x) - f(y)| \leq K(f, \alpha, \nu)|x - y|^\alpha$$

for all $x \in [0, \infty)$ and $y \in E$. □

REFERENCES

- [1] CIUPA, A. and GAVREA, I., *On a modified Favard-Szász operator*, Univ. Babeş-Bolyai, Cluj-Napoca, Faculty of Math. and Informatics Research Seminars, Seminar on Numerical and Statistical Calculus, **1**, pp. 39–44, 1994.
- [2] MAZHAR, S.M. and TOTIK, V., *Approximation by modified Szász operators*, Acta Sci. Math. (Szeged) **49**, pp. 364–383, 1985.
- [3] LI, S., *Local Smoothness of Functions and Baskakov-Durrmeyer Operators*, J. Approx. Theory, **88**, pp. 139–156, 1997.
- [4] ŚWIDERSKI, T., *Global approximation theorems for the generalized modified Szász-Mirakyan operators in polynomial weight spaces*, Demonstr. Math., **XXXVI**, No. 2, pp. 395–404, 2003.
- [5] WACHNICKI, E., *On a Gauss-Weierstrass generalized integral*, Akad. Ped. Kraków Rocznik Nauk.-Dydakt., **204**, Prace Matematyczne 17, pp. 251–263, 2000.
- [6] ZHOU, D.-X., *On a paper of Mazhar and Totik*, J. Approx. Theory, **72**, pp. 290–300, 1993.

Received by the editors: July 29, 2008.